High Road-Low Road (1D15.20)

Location: Fridge-left
Concept/Purpose: Velocity, Position, and Acceleration

Procedure/Explanation: A long plywood track (~8 ft.) with two lanes is used to show the difference between average and instantaneous velocity. One of the lanes is straight and level while the other contains a large "valley". Two balls travel the lanes starting with the same initial velocity. The ball that travels through the "valley" arrives at the end first even though it travels a further distance because its average velocity for the entire trip is greater than the average velocity of the other ball travelling on the level path.

